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QUESTION 1

Identify four parameters that are considered in the calculation of manufacturing lead time in Oracle Manufacturing
Cloud. 

A. Resource calendars of the work centers involved 

B. The primary work definition of the item 

C. The lot size of the item 

D. The shifts are defined in the plant calendar 

E. Plant calendar exceptions 

F. Resource calendar exceptions 

Correct Answer: BCDF 

 

 

QUESTION 2

Your customer has completed the required setup steps for automatic work definition. Identify the option that shows the
navigation steps needed to create an automatic work definition. 

A. Manufacturing > Work Definition> Manage Work Definitions> Actions> Create automatic work definition 

B. Product Management> Product Information Management> Items> Edit Item > Actions> Create automatic work
definition 

C. Manufacturing> Work Definition> Manage Standard Operations> Select default standard operation> Actions> Create
automatic work definition 

D. Manufacturing > Work Definition> Manage Standard Operations> Create automatic definition 

Correct Answer: C 

 

QUESTION 3

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the 

Entering Edit Work Order: WO-1025 page, he finds General Information, Operations and History tab, but 

not the Reservations tab. 

Identify the two reasons that can cause the Reservations tab not to be displayed. 

A. Work Order (WO-1025) is not a Configured item Work Order. 

B. Work Order (WO-1025) is not a Back-to-Back Work Order. 
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C. Work Order (WO-1025) is not a Drop-Ship Work Order. 

D. Work Order (WO-1025) is not a Pick-to-order Work Order. 

E. Work Order (WO-1025) is not a Plan-to-produce Work Order. 

Correct Answer: AC 

 

QUESTION 4

Your customer runs two daily shifts in her plant: Morning Shift and Evening Shift. A resource LATHE is assigned to the
work center W1. There are five units of LATHE available, of which three units are available for the Morning Shift and the
remaining units are available for the Evening Shits. Which two actions must you perform to associate LATHE with W1? 

A. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource
LATHE in the Morning Shift column. 

B. Select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource LATHE
in the Morning Shift column. 

C. Select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource LATHE
in the Evening Shift column. 

D. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource
LATHE in the Evening Shift column. 

E. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 60% against the
resource LATHE in the Morning Shift column. 

F. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 40% against the
resource LATHE in the Evening Shift column. 

Correct Answer: BE 

 

QUESTION 5

Which entity should you use to configure the manufacturing plant in Functional Manager? 

A. Legal Entity 

B. Plant 

C. Organization 

D. Business Unit 

Correct Answer: B 

 

1Z0-1075-22 PDF Dumps 1Z0-1075-22 VCE Dumps 1Z0-1075-22 Study Guide

Powered by TCPDF (www.tcpdf.org)

1Z0-1075-22 PDF Dumps | 1Z0-1075-22 VCE Dumps | 1Z0-1075-22 Study Guide                                3 / 3

https://www.geekcert.com/1z0-1075-22.html
https://www.geekcert.com/1z0-1075-22.html
https://www.geekcert.com/1z0-1075-22.html
https://www.geekcert.com/1z0-1075-22.html
https://www.geekcert.com/1z0-1075-22.html
https://www.geekcert.com/1z0-1075-22.html
http://www.tcpdf.org

